The group G is isomorphic to the group labelled by [ 48, 47 | in the Small Groups library.
Ordinary character table of G = C3 x ((C4 x C2) : C2):

la 2a 2b 4a 3a 2c  4b  4c 6a 4d 60 12a de 3b 6c 2d 120 12¢ 6d 12d Ge 12¢ 12f 6f 6g 129 12h 12¢ 125 6h
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 -1 -1 -1 1 1 1 1 -1 1 -1 -1 -1 1 1 -1 1 1 -1 1 -1 -1 -1 1 —1 1 1 1 -1 -1
X3 1 -1 -1 1 1 1 1 -1 -1 -1 -1 1 1 1 1 1 1 -1 -1 -1 -1 1 1 1 1 1 —1 -1 1 1
X4 1 -1 1 -1 1 1 -1 1 -1 -1 1 -1 -1 1 1 1 -1 1 -1 —1 1 -1 -1 1 1 -1 1 -1 -1 1
X5 1 -1 1 1 1 1 -1 -1 -1 1 1 1 1 1 1 -1 -1 -1 -1 1 1 1 1 1 -1 -1 -1 1 1 -1
X6 1 1 -1 -1 1 1 -1 -1 1 1 -1 -1 -1 1 1 1 -1 -1 1 1 -1 -1 -1 1 1 -1 -1 1 -1 1
X7 1 1 -1 1 1 1 -1 1 1 -1 -1 1 1 1 1 —1 -1 1 1 -1 -1 1 1 1 —1 -1 1 -1 1 -1
X8 1 1 1 -1 1 1 1 -1 1 -1 1 -1 -1 1 1 -1 1 -1 1 -1 1 -1 -1 1 -1 1 -1 -1 -1 -1
xo | 1 -1 -1 -1 E(3)? 1 1 1 -E@3)?2 1 -E3)? —E(3)? -1 E(3) E(3)? -1 E@3)? E@B)?* -E@B) E@B)? -E@3) —E(3) —E(3)? E(3) —E(3)?2  E@3) E(3) E(3) —E(3) —E(3)
Xxwo|1 -1 -1 -1 EB3 1 1 1 —E@3 1 —E@3) —E(3) -1 E(3)? E(3) -1 E@B3) EB) -BE@B)? E@B3) -E@3)? —E@3)? —E(3) E@3)?  —EB3) E@B)? EGB)? B@B3)? —EB3)? —E@3)?
xu|1 -1 -1 1 EGB? 1 1 -1 —EB)? -1 -E@3)?  E@3)? 1 E(3) EGB)? 1 E@B)? -EB3)? -EB) —E@3)? —E@3) E(3) E(3)? E(3) EG3)?  E@3) -EB) -E@3) E(3) E(3)
xi2| 1 -1 -1 1 E(3) 1 1 -1 —-E@B3) -1 -E3) E(3) 1 E(3)? E(3) 1 EQB) -EB) —-E@B)? -E@B) -E@3)? E(3)? E(3) E(3)? E@B3)  E(3)? -EB3)? —-E@3)? E(3)? E(3)?
x| 1 -1 1 -1 E(3)? 1 -1 1 —-E3)? -1 E3)? —E(3)? -1 E(3) E(3)? 1 —E(3)? E@B)? -EB) —-EB)? E@O) —E(3) —E(3)? E(3) E(3)? —E@B3) E@3) —E(3) —E(3) E(3)
xuu| 1 -1 1 -1 E(3) 1 -1 1 -E@B) -1 E@3) —E(3) —1 E(3)? E(3) 1 —-E@B) E@B) -E@3)? -E@B3) E(@3)? —E(3)? —E(3) E(3)? E@B) —E(3)? E@3)? -—E(3)? —E(3)? E(3)?
xi5| 1 -1 1 1 E(3)? 1 -1 -1 —E@B3)?2 1 E(3)? E(3)? 1 E(3) E(3)? -1 —-E(3)? —-E(3)? -EB) FE(3)? E(3) E(3) E(3)? E(3) —-E(3)2 —-EB3) —-E@B) E@©) E(3) —E(3)
xie| 1 -1 1 1 EB3) 1 -1 -1 —E@3) 1 E@3) E(3) 1 E(3)? E(3) -1 -E@3) -EB) -BE@3)? E@B3) B@3)? E(3)? E(3) E(3)?  —EB3) -BE(3)? —-E@3)? B(3)? E(3)? —E(3)2
xir|1 1 -1 -1 EG)? 1 -1 -1 E@B3)? 1 -BE@)? —B(3)? -1 E(3) E(3)? 1 -E@B)? —-EB3)? EB) E@B3)? -—E@3) —E(3) —E(3)? E(3) EG)? -E@B) -E@3) E@3) —E(3) E(3)
x| 1 1 -1 -1 E(3) 1 -1 -1 EB) 1 -E@3) —E(3) -1 E(3)? E(3) 1 —-E@B) -EB) EB?* EQ3) -E@3)? —E(3)? —E(3) E(3)? EB) —E(3)? —-E(3)? E3)? —E(3)? E(3)?
xo| 1 1 -1 1 E(3)? 1 -1 1 E@3)?2 -1 —-EB3)? E(3)? 1 E(3) E(3)? -1 —E(B)* E@B)? EB) -E@B)? -E@3) E(3) E(3)? E(3) —-E(3)? —-E(3) E@B) —E@) E(3) —E(3)
xo| 1 1 -1 1 E(3) 1 -1 1 EB -1 -E@3) E(3) 1 E(3)? E(3) -1 —-EB) E@B) EB)? -E@B) -E(@3)? E(3)? E(3) E(3)? —E(3) —E(3) E@B)? -E(3)? E(3)? —E(3)?
Xa |1 1 1 -1 EB? 1 1 -1 E@B? -1 EB?  —E@3)? -1 E(3) E(3)? -1 E@B)? -E@B3)? E@B) -E@3)? E@3) —E(3) _E(3)? E(3)  —BE(3)? E@B3) -EB) -E@3) —E(3) —E(3)
xe2| 1 1 1 -1 E(3) 1 1 -1 EB -1 E@3) —E(3) -1 E(3)? E(3) -1 E@B) —-E@B) E@B)? -EB) EB3)? —E(3)? —E(3) E(3)? —-E(3) E(3)? -E(3)? —-E(3)? —E(3)? —E(3)?
xo3| 1 1 1 1 E(3)? 1 1 1 E@B? 1 E@3)? E(3)? 1 E(3) E(3)? 1 EB)? E@3)? E(3) E(3)? E(3) E(3) E(3)? E(3) E(3)? E(3 E(3) E(3) E(3) E(3)
Xea |11 1 1 EB3) 1 1 1 EB 1 E@3) E(3) 1 E(3)? E(3) 1 EB) EB) EB)? EB)  E@3)? E(3)? E(3) E(3)2 E(3) E@B)? E@B)? B@3)? E(3)2 E(3)?
Xos| 2 0 0 —2xE(4) 2 2 0 0 0 0 0 2% E(4) 2% E(4) 2 —2 0 0 0 0 0 0 —2% B(4) 2 % E(4) —2 0 0 0 0 2« E(4) 0
X6 | 2 0 0 2xE(4) 2 2 0 0 0 0 0 2% E(4)  —2xE(4) 2 2 0 0 0 0 0 0 2« B(4) 2% E(4) 2 0 0 0 0 2% E(4) 0
Xor | 2 0 0 —2+E@) 2+E(3)?2 -2 0 0 0 0 0 —2+B(12)" 2+Bd) 2+EB) —2+EB3)? 0 0 0 0 0 0 —2+B(12)7 2+E(12)'  —2xE®B3) 0 0 0 0 2% B(12)7 0
Xos| 2 0 0 —2xEM) 2xE@3) -2 0 0 0 0 0 —2«B12)7 2x«BE@4) 2+«B@3)? -2+E3) 0 0 0 0 0 0 —2+E(12)''  2+E(12)7 —2xEB3)? 0 0 0 0 2xBE(12)" 0
Xoo | 2 0 0 2%EMA) 2+E(3)?2 -2 0 0 0 0 0 2+ E(12)1 2« E(4) 2+EB3) —2+E(3)2 0 0 0 0 0 0 2+ B(12)7 -2+ E12)"  —2x«E(3) 0 0 0 0 —2+B(127 0
xso| 2 0 0 2xE4) 2xEB) -2 0 0 0 0 0 2% E(12)T  —2xE(4) 2xE(3)? -2xE(3) 0 0 0 0 0 0 2x E(12)1 —2x E(12)T —2x E(3)? 0 0 0 0 —2x E(12)1 0
Trivial source character table of G = C3 x ((C4 x C2) : C2) at p = 2:
Normalisers IV; N1 N N3 Ny Ns Ng N Ng Ny Nio N1 Nio Nis Ny Nis Nig N1z Nisg Nig Nag
p—subgroups Of G up to conjugacy in G P1 P2 P3 P4 P5 P6 P7 Pg Pg P10 P11 P12 P13 P14 P15 PlG P17 Plg P19 P20
Representatives n; € N; la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b la 3a 3b
Tt l vt l-xadtlxatlxs bl xotloxrtl xst0 xot0 x10+0-x11+0 x12+-0-x13+0 x14F0-x15 0 x16 -0 x17 +0-x15 -0 X109+ 0-x20 + 0- X1 +0-x22 +0-x23 + 0 x22 -2 xo5 - 2 x26 + 0-xo7 + 0 xo8 + 0-x29 + 0- xa0 | 16 16 16 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-x0+0-x10+1-x11+0-x12+1-x13+0-x1a+1-x15+0-x16+1-x17+0-x18+1-x10+0-x20+1-x21+0-x22+1-X23+0-Xx24+0-x25+0-x26+2-x2r +0-x28 +2-X20+0-x30 | 16 16xE(3)*> 16« E(3) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+1-x10+0-x11+1-x12+0-x13+1-x14a+0-x15+1-x16+0-Xx17+1-x1s+0-X10+1-x20+0-x21+1-X22+0-x23+1-X2a+0-x25+0-X26+0-xor+2 X2s+0-x20+2 X30 | 16 16xE3) 16xE(3)*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T-xa+1l-xa+1-xa3+1-xa+1l-xs+1-x6+1-xr+1-xs+0-X0+0-x10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-Xx20+0-x30 | 8 8 8 3 8 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-Xx7+0-xs+0-xo+1-x10+0-x11+1-x12+0-x13+1-x1a+0-x15+1-x16+0-x17+1-x18+0-x10+1-x20+0-x21+1-Xx22+0-x23+1-X2a+0-x25+0-Xx26+0-x27+0-Xx28+0-x20+0-x30 | 8 8xE(3 8xE(3)* | 8 8xE(3) 8xE(3)*|0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-X1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-X0+0-x10+1-x11+0-x12+1-x13+0-x1a+1-X15+0-x16+1-x174+0-x18+1-X10+0-x20+1-x21+0-x22+1-Xx23+0- X214 +0-x25+0-x26+0-x27+0-X2s +0-x20+0-x30 | 8 8xE3)> 8xE(3) | 8 8xFE(3)*> 8xE(3) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-xa+1-x5+0-x6+0-x7+1-x8+0-x90+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21+0-x22+0-x23+0-x2a+1-x25+1-x26+0-x27+0-x28+0-x29+0-x30]| 8 8 8 0 0 0 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-x44+0-x54+0-x6+0-x74+0-xs+0-x0+0-x10+0-x11 +0-x12+1-x13+0-x14a+1-x15+0-x16+0-x17+0-x18+0-Xx10+0-x20+1-x21+0-x22+1-x23+0-x24+0-X25+0-x26+1-Xx27+0-x28+1-x290+0:x30]| 8 8*E(3)2 8x* FE(3) 0 0 0 4 4*E(3)2 4% E(3) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x3+0-X9+0-x10+0-x11+0-x12+0-x13+1-x14+0-x15+1-x16+0-x17+0-x18+0-x19+0-Xx20+0-x21+1-x220+0-Xx23+1-x24+0-x25+0-%x26+0-x27r+1-x28+0-X29+1-x30]| 8 8 F(3) 8xE(3)2 | 0 0 0 4 4xE(3) 4%xE3)?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-x4a+0-xs+1-x6+1-x7+1-x8+0-xo0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-X19+0-x20+0-x21 +0-x22+0-x23+0-x2a+1-x25+1-x26+0-x27+0-x28+0-x29+0-Xx30]| 8 8 8 0 0 0 0 0 0 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O-x14+0-x2+0-x3+0-x44+0-x54+0-x64+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x134+0-x14+0-x15+0-x16+1-x17+0-x18+1-XxX10+0-x20+1-x21+0-x22+1-x23+0-x20+0-x25+0-x26+1 x27+0-x28+1-x290+0:%x30| 8 8*E(3)2 8x* FE(3) 0 0 0 0 0 0 4 4*E(3)2 4xFE(3) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-x44+0-x54+0-x6+0-x74+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+1-x18+0-x10+1-x20+0-x21+1-Xx2o+0-x23+1 -x24+0-X25+0-x26+0-x27+1-x28+0-x20+1 Xx30]| 8 8x F(3) 8*E(3)2 0 0 0 0 0 0 4 4xE(3) 4*E(3)2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+1-xa+0-xs5+1-x6+0-x7+0-x8+0-x90+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x2a+1-x25+1-x26+0-x27+0-x28+0-x29+0-x30]| 8 8 8 0 0 0 0 0 0 0 0 0 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+1-x114+0-x12+1-x13+0-x14+0-x154+0-x16+1-Xx17+0-x1s+0-X10+0-x20+0-x21+0-x22+1-Xx23+0-Xx2a+0-x25+0-X26+1-xar+0-X2s+1-x20+0-x30 | 8 8xE(3)> 8xE@3) |0 0 0 0 0 0 0 0 0 4 4xE(3)2 4xE@3) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+1-x12+0-x13+1-x14+0-x15+0-x16+0-x17+1-x18+0-Xx10+0-x20+0-%x21+0-x220+0-x23+1-x24+0-X25+0-x26+0-x27+1-x28+0-x20+1 Xx30]| 8 8 FE(3) 8*E(3)2 0 0 0 0 0 0 0 0 0 4 4% E(3) 4*E(3)2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x2+1-x3+0-xa+1-x5+0-x6+1-x7+0-xs+0-Xx0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-X190+0-x20+0-x21 +0-x22+0-Xx23+0-x24a+0-x25+0-x26+0-x27+0-x28+0-x20+0:-%x30| 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x2+0-x34+0-x4+0-x54+0-x6+0-x7+0-x8+0-X0+0-x10+0-x11+1-x12+0-x13+0-x14+0-x15+1-x16+0-x17+0-x18+0-x19+1-X20+0-x21+0-x20+0-x23+1-x2a+0-x25+0-%x26+0-x274+0-x28+0-X20+0-x30| 4 4% FE(3) 4xE(3)? | 4 4xE@3) 4%xE3)2| 0 0 0 0 0 0 0 0 0 4 4% E(3) 4xE(3)?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-X2+0-y34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-X10+1-x11+0-X12+0-x13+0-X14+ L x15+0-X16+0- 17 +0- X153+ L Y19 +0-X20 &+ 0+ Y21 +0- X2z + L a3+ 0 Xoa+0-yo5+0-X26+0-yar +0-x2s +0-x20 +0-x30 | 4 4xE(3)2 4xEB) | 4 4«E(3)2 4xE®3) | 0 0 0 0 0 0 0 0 0 4 4xB(3)2 4%E@3) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x24+0-x34+1-xa+1-x5+0-x6+0-x7+1-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+0-x174+0-x18+0-x10+0-Xx20+0-x21 +0-x224+0-x23+0-x244+0-x25+0-%26+0-x27+0-x28+0-x29+0-x30| 4 4 4 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+1-Xx14+0-x15+1-x16+0-x17+0-x18+0-Xx190+0-x20+0-x21+1-X2+0-x23+1 -x24+0-%x25+0-x26+0-x27+0-x28+0-%x20+0"x30| 4 4*E(3) 4*E(3)2 4 4*E(3) 4*E(3)2 4 4*E(3) 4*E(3)2 0 0 0 0 0 0 0 0 0 4 4% E(3) 4*E(3)2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0 x1+0- X240 x5+0-xa+0 X54+0x6+0-Xx7+0-xs+0-x0+0 X10+0-x11+0 X124+ L x15+0 X1+ 1-x15+0 X164+ 0 x17+0- X158+ 0 x10+0- X204+ L -x21 +0-Xoo+1- Y25 +0-Xos+0-xa5+0-Xo6+0-y2r +0-Xos +0- Y20 +0-x30 | 4 4xEB)? 4xEB) | 4 4xE@3)? 4+EB3) | 4 4xE@3)? 4%E3) | 0 0 0 0 0 0 0 0 0 4 4+B(3)2 4%xE@3) |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-xa+1-x5+1-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x220+0-x23+0-Xx24+0-x25+0-x26+0-x27+0-x28+0-x29+0-x30| 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+0-x0+1-x10+0-x11+0-x124+0-x13+0-Xx14+0-x15+1-x16+0-x17+1-x18+0-Xx19+0-x20+0-x21+0-Xx22+0-x23+1-x24+0-%x25+0-x26+0-x27+0-x28+0-%x20+0:%x30]| 4 4*E(3) 4*E(3)2 4 4*E(3) 4*E(3)2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4*E(3) 4*E(3)2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-Xo+0-Xx10+0-x11+0-x12+0-x13+0-x14+1-Xx15+0-x16+1-x17+0-x18+0-X19+0-x20+0-x21 +0-x22+1-x23+0-x24+0-x25+0-X26+0-x27+0-x28+0-x20+0-%30 | 4 4xFE(3)2 4% E(3) 4 4% E(3)? 4xE@3) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4%xE(3)? 4xE@3) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-xa+0-x5+1-x6+1-x7+1-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x19+0-x20+0-x21 +0-x220+0-x23+0-x24+0-x25+0-x26+0-X27+0-x28+0-x29+0-x30| 4 4 4 4 4 4 0 0 0 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x04+0-x10+0-x114+0-x12+0-Xx13+0-x14+0-Xx15+0-x16+0-x17+1-x1s+0-x10+1 -Xx20+0-x21+1 X22+0-x23+1 X2a+0-x25+0-X26+0-x27+0-X2s+0-x20+0-x30 | 4 4*xEB) 4xEB)> |4 4xE3) 4xE(3)?| 0 0 0 4 4xE@3) 4xE3)*| 0 0 0 0 0 0 0 0 0 0 0 0 4 4xE(3) 4xE(3)?|0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+0-x18+1-X190+0-x20+1-Xx21 +0-x22+1-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-%30 | 4 4xFE(3)2 4% E(3) 4 4%xE(3) 4xE@3) | 0 0 0 4 4% E(3)? 4xE@3) | 0 0 0 0 0 0 0 0 0 0 0 0 4 4%xE(3)? 4xE@3) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
I-x1+1:-x24+0-x3+1-xa+0-x54+0-x6+1-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-Xx13+0-x14+0-Xx15+0-x16 +0-x17+0-x18 +0-Xx19+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-x26 +0-x27+0-x28 +0-x20+0-x30 | 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-Xxo+1-Xx10+0-x11+0-x12+0-x13+1-x14+0-Xx15+0-x16+0-x174+0-x18+0-Xx10+1-X20+0-x21+0-x22+0-x23+1-X24a+0-x25+0-x26+0-x27+0-X2s +0-Xx20+0-x30 | 4 4*xE3) 4xE(3)* | 4 4xE3) 4xE(3)?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4xE(3) 4xE3)*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O-x14+0-x2+0-x3+0-x44+0-x54+0-x64+0-x7+0-xs+1-xX9+0-x10+0-x11+0-x12+1-x13+0-x124+0-x15+0-x16+0-x17+0-x18+1-X10+0-x20+0-x21 +0-x22+1-x23+0-x24+0-%x25+0-x26+0:x27+0-x28+0-x29+0-%x30| 4 4*E(3)2 4*E(3) 4 4*E(3)2 4*E(3) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4*E(3)2 4*E(3) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Toxa+1-xa+1-x3+0-xa+0-x5+0-x6+0-x7+1-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-Xx15+0-x16+0-x17+0-x18+0-Xx10+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30 | 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+1-Xx10+0-x11+1-x12+0-x13+0-x14+0-x15+0-x16+0-X17+0-Xx18+0-x10+0-x20+0-x21 +1-x22+0-X23+1 X204 +0-x25+0-x26 +0-x27r +0-x28+0-x20+0-x30 | 4 4xE(3) 4xE@3)> | 4 4xE(3) 4%xE3)*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4xE(3) 4xE3)*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-xo+0-x10+1-x114+0-x12+0-Xx13+0-x14+0-x15+0-x16+0-x17+0-x158+0-x10+0-X20+1-x21 +0-X22+1-x23+0-X24+0-x25+0-X26+0-x27+0-X2s+0-x20+0-x30 | 4 4*xE(3)?> 4xEB) |4 4xE(3)> 4xE@3) | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4xE(3)° 4xE(@3) |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Tox1+0-x2o+1-x3+1-xa+0-x5+1-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-x15+0-x16+0-x17+0-x18+0-Xx10+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-Xx26+0-x27+0-x28+0-x20+0-x30 | 4 4 4 4 4 4 0 0 0 0 0 0 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x24+0-x3+0-xa+0-x5+0-x6+0-x74+0-x8+0-x0+0-x10+0-x11+1-x12+0-x134+1-x14+0-Xx15+0-x16+0-x17+1-X18+0-x10+0-x20+0-Xx21+0-x20+0-Xx23+1-Xx2a+0-x25+0-Xx26+0-x2r+0-x28+0-Xx20+0-x30 | 4 4xEB) 4xE3)* |4 4xE@B) 4xE(3)*| 0 0 0 0 0 0 4 4xE(3) 4xE@3)?*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4xE(3) 4xE3)*|0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-X1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-Xx0+0-x10+1-x11+0-x12+1-x134+0-x14+0-Xx15+0-x16+1-x174+0-x18+0-X10+0-x20+0-x21+0-x22+1-Xx23+0- X240 +0-x25+0-x26+0-x27r+0-X2s +0-x20+0-x30 | 4 4*xEB)*> 4xE(3) | 4 4xEB)*> 4xE@3) | 0 0 0 0 0 0 4 4xE3)* 4xE@3) |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4xE(3)* 4%E@3) |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+1-xs+0-x90+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-X16+0-Xx17+0-x18+0-x190+0-x20+0-x21+0-Xx22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30 | 2 2 2 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 2 2 2 0 0 0 2 2 2 0 0 0 2 2 2 0 0 0 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x0+0-Xx10+0-Xx114+0-Xx12+0-Xx13+0-x14+0-x15+0-x16 +0-x17+0-x18 +0-x10 +0-x20 + 1 - X21 +0-Xx22 +1-X23+0-X2a +0-X25+0-Xx26 + 0-Xx27 +0-x28 +0-x20+0-x30 | 2 2xE(3)> 2xE(3) | 2 2+E@3)*> 2xE(3) | 2 2+E3)* 2xE(3) | 2 2+E3)* 2xE(3) | 0 0 0 0 0 0 2 2xE(3) 2+E@3) |0 0 0 2 2xE(3)? 2xE(@3) |0 0 0 2 2xE@3)° 2+E(3) |0 0 0 2 2xE(3)* 2xE@3) |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-Xx3+0-xa+0-x54+0-x6+0-x7+0-x8+0-x04+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16 + 0- xa7 +0- xa8 + 0- x10 +0-x20 +0-x21 +1-Xx22+0-Xx23+1-X24+0-Xx25 +0-x26 +0-x27 +0-x28 +0-x20+0-x30 | 2 2xE(3) 2+E3)* | 2 2+E@B) 2+xE@B)*| 2 2+EB) 2+E@3)*| 2 2+EB3) 2+xE@3)?*|0 0 0 0 0 0 2 2xE3) 2xE(3)*| 0 0 0 2 2xE@B) 2xE((3)*]0 0 0 2 2+E(@3) 2xE((3)?]0 0 0 2 2xE(3) 2+E@B)*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x2+0-x3+0-xa+0-x5+0-x6+1-x7+0-xs+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-Xx16+0-Xx17+0-x18+0-x19+0-x20+0-x21+0-Xx22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-x30 | 2 2 2 2 2 2 0 0 0 2 2 2 0 0 0 2 2 2 0 0 0 0 0 0 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-Xx17+0-x18+1-x10+0-x20+0-x21+0-x22+1-X23+0- X214 +0-x25+0-x26+0-x27r+0-x25+0-x20+0-x30 | 2 2xE(3)> 2xE@B) | 2 2xE(3)> 2+E@3) |0 0 0 2 2xE(3)* 2xE(@3) |0 0 0 2 2xE(3)* 2xE@3) |0 0 0 0 0 0 2 2xE(3)* 2+E3) |2 2xE@B)* 2+E3) |0 0 0 0 0 0 0 0 0 2 2xE(3)> 2xE(3) |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-Xx14+0-x24+0-x3+0-xa+0-x5+0-x6+0-x74+0-x8+0-x0+0-x10+0-x11+0-Xx12+0-x134+0-x14+0-x15+0-x16 +0-x17+0-x18+0-x10+1-x20+0- X201+ 0-x20+0-x23+1-x2a+0-x25 +0-x26 +0-x2r +0-x2s +0-x20+0-x30 | 2 2xFE3) 2xE3)* | 2 2xE@B) 2+xE(3)*|0 0 0 2 2xE@B) 2xE@B3)*|0 0 0 2 2xE(3) 2%xE(3)*|0 0 0 0 0 0 2 2xE(3) 2+E(3)*| 2 2%E@B3) 2xE@3)?|0 0 0 0 0 0 0 0 0 2 2xE3) 2xE(3)*| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+0-x4+0-x5+1-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x29+0-x30]| 2 2 2 2 2 2 0 0 0 2 2 2 2 2 2 0 0 0 0 0 0 2 2 2 2 2 2 0 0 0 0 0 0 2 2 2 0 0 0 0 0 0 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+1-x17+0-x18+0-X10+0-X20+0-x21 +0-x22+1-x23+0-X2a+0-X25+0-x26+0-x27+0-xa8+0-x20+0-%x30 | 2 2xE(3)? 2xE(3) 2 2xE(3)? 2xE@3) |0 0 0 2 2xE(3)? 2xEB) |2 2xE3)2 2xE@3) |0 0 0 0 0 0 2 2xE(3)? 2xE3 2 2xE(3)? 2xEB3) |0 0 0 0 0 0 2 2xEB)?* 2xE3) |0 0 0 0 0 0 2 2xE(3)? 2xE@3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x54+0-x6+0-x7+0-x8+0-x0+0-x10+0-Xx114+0-x12+0-x13+0-x14+0-x15+0-x16 + 0-xa7 + 1 - x18 + 0- x10 +0- x20 +0- x21 +0-x22 +0-Xx23+1-X24 +0-Xx25+0-Xx26 + 0-Xx27 +0-x28 +0-x20+0-x30 | 2 2xE(3) 2xFE(3)> | 2 2xE(3) 2+E(3)*] 0 0 0 2 2xE(3) 2+E3)*| 2 2%xEB) 2xE@3)?*| 0 0 0 0 0 0 2 2xE3) 2+E(B3)*| 2 2+E(3) 2xE@3)*]0 0 0 0 0 0 2 2xE@) 2+E@B)°|0 0 0 0 0 0 2 2xE(3) 2+E@B)?|0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x24+0-x34+0-xa+1-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x%x16+0-x174+0-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-%x30| 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+0-Xx10+0-x11+0-x12+0-x13+0-x14+1-Xx15+0-x16+0-x17+0-x18+0-X10+0-X20+0-x21 +0-x22+1-x23+0-X2a+0-X25+0-Xx26+0-x27+0-xa8+0:-x20+0-x30 | 2 2xE(3)2 2xE(3) 2 2xE(3)? 2xEB) | 2 2xE3)2 2xE@3) |0 0 0 0 0 0 2 2xE(3)? 2xE3 2 2xE(3)? 2xE@B) |2 2xE3)? 2+xE(@3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE(3)? 2xE@3) |0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-Xxo+0-Xx10+0-x11+0-x12+0-x13+0-Xx14+0-x15+1-Xx16+0-x17+0-x18+0-X19+0-X20+0-x21 +0-x22+0-x23+1-X2a+0-x25+0-X26+0-x27r+0-x28+0-x20+0-%x30 | 2 2xE@B) 2xE@3)? |2 2xE3) 2xE@3)?| 2 2xEB) 2xE3)?|0 0 0 0 0 0 2 2xE@3) 2xEMB)?2| 2 2xEB) 2+xE(3)?| 2 2xE@B3) 2xE3)?2] 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE(3) 2xE@3)?|0 0 0 0 0 0 0 0 0 0 0 0
1-x14+0-x24+0-x34+1-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+0-x174+0-x18+0-x19+0-x20+0-x21 +0-x22+0-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-%x30| 2 2 2 2 2 2 2 2 2 0 0 0 2 2 2 0 0 0 2 2 2 0 0 0 0 0 0 2 2 2 0 0 0 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 2 2 2 0 0 0 0 0 0 0 0 0
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+0-Xx10+0-x11+0-x12+1-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-X19+0-X20+0-x21 +0-x22+1-x23+0-x2a+0-X25+0-X26+0-x27r+0-x8+0-x20+0-%x30 | 2 2xEB)2 2+E@3) | 2 2+E(3)? 2xE@3) |2 2xE3)? 2xE3) |0 0 0 2 2xE(3)? 2xE@3) |0 0 0 2 2xE(3)? 2xE@3) |0 0 0 0 0 0 2 2xE(3)? 2xE@3) |0 0 0 2 2xE(3)? 2xE@3) |0 0 0 0 0 0 0 0 0 0 0 0 2 2xE(3)? 2xE@3) |0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x74+0-xs+0-x90+0-x10+0-x11+0-x12+0-x13+1-Xx14+0-x15+0-x16+0-x17+0-x184+0-x10+0-x20+0-x21+0-x22+0-x23+1-x24+0-x25+0-x26+0-x27+0-x28+0:x29+0-x30| 2 2x E(3) 2xE(3)2 | 2 2xEB) 2+xE3)?| 2 2xE(3) 2xEB3)?2| 0 0 0 2 2xE@3) 2«E@3)*|0 0 0 2 2xE(3) 2xE(3)?2| 0 0 0 0 0 0 2 2xE(3) 2xE(3)?| 0 0 0 2 2xE@B) 2«E@3)*|0 0 0 0 0 0 0 0 0 0 0 0 2 2xE(3) 2xE@3)?| 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-Xx13+0-Xx14+0-x15+0-Xx16+0-x17+0-x18+0-Xx19+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-%26+0-x27+0-x28+0-%29+0-x30 | 2 2 2 2 2 2 0 0 0 0 0 0 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 2 0 0 0 0 0 0
O-x1+0-x2+0-x3+0-x44+0-x5+0-x64+0-x7+0-xs+0-x9+0-x10+1-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-x10+0-x20+0-x21+0-x22+1-x23+0-x24+0-x25+0-x26+0-x27+0-x28+0-x20+0-%x30| 2 2*E(3)2 2*E(3) 2 2*E(3)2 2*E(3) 0 0 0 0 0 0 2 2*E(3)2 2*E(3) 2 2*E(3)2 2*E(3 0 0 0 0 0 0 0 0 0 0 0 0 2 2*E(3)2 2*E(3) 2 2*E(3) 2*E(3) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2*E(3)2 2*E(3) 0 0 0 0 0 0
0-x1+0-Xa40-x5+0-xa+0-X54+0-x6+0-x7+0-xs+0-x0+0-X1040-x11+1-X1240-x15+0- X144 0 x15+0- X164 0 x17 +0- X184 0 x10 +0- X204+ 0 x21 +0- X224 0- o5+ 1 - X244 0- Y25+ 0 X26+ 0 - xor +0-x2s +0-x20+0-x30 | 2 2%E@B) 2+EB)2 |2 2xEB) 2+E3)2| 0 0 0 0 0 0 2 2+EB) 2+EB)?| 2 2+B(3) 2+E@B)2| 0 0 0 0 0 0 0 0 0 0 0 0 2 2x«EB3) 2xEB)?| 2 2+E@B) 2+EB)?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2x«E3) 2+EB3)?| 0 0 0 0 0 0
1-x1+1-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-Xx13+0-Xx14a+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-x20+0-x21+0-x22+0-x23+0-x24+0-x25+0-%26+0-x27+0-x28+0-%29+0-x30 | 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 2 0 0 0 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 2 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-x0+0-Xx10+0-Xx11+0-x12+0-x13+0-x14+0-x154+0-x16+0-X17+0-Xx18+0-x10+0-x20+0-x21+0-x20+1-X23+0- X214 +0-x25+0-x26+0-x27+0-x2s+0-x20+0-x30 | 2 2xE(3)> 2xE@B) | 2 2xE(3)> 2+«E@3) |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE3)> 2xE@3) |0 0 0 2 2xE3)? 2xE(3) | 2 2xE(3)* 2+E@3) |0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE(3)* 2+E(3) |0 0 0
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x74+0-xs+0-x90+1-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x184+0-x10+0-x20+0-x21+0-x22+0-x23+1-x24+0-x25+0-x26+0-x27+0-x28+0-x29+0-x30| 2 2x E(3) 2xE(3)?2 | 2 2xE@B) 2xE3)2| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE(3) 2xEB3)?| 0 0 0 2 2xE(3) 2xEMB)2| 2 2xEB) 2xE3)?| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2xE(3) 2xE(3)?| 0 0 0
I-x1+0-x24+0-x3+0-xa+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-Xx134+0-x14+0-Xx15+0-x16 +0-x17+0-x18 +0-x19+0-x20+0-x21+0-x22+0-x23+0-x24 +0-x25 +0-Xx26 +0-x27 +0- X258 +0-x20 +0- x50 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-Xx17+0 X158 +0-Xx19+0-x20 +0-x21 +0-x22+1-x23+0-X2a+0-Xx25+0-x26 +0-x27 +0-x28 +0-x20+0-x30 | 1 E(3)° E(3) 1 E@3)? E(3) 1 E@3)? E(3) 1 E@3)? E(3) 1 E@3)? E(3) 1 E@3)? E(3 1 E@B)? E(3) 1 EB@3)? E(3 1 EB@B)? E(3) 1 EB@3)? E(3) 1 EBE@)? E(3) 1 EB@3)? E(3 1 EB@B)? E(3) 1 E@3)? E(3) 1 E(3)? E(3) 1 E@3)? E(3) 1 E(3)? E(3) 1 E@3)? E(3) 1 E(3)? E(3) 1 E@B)? E@3)
0-x14+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-Xx14+0-Xx15+0-x16 +0-x17+0-Xx18+0- X190+ 0-Xx20+0-Xx21 +0-Xx220+0-x23+1-Xx24+0-x25+0-x26 +0-x27+0-x28+0-x20+0-x30 | 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E(3) E(3)? 1 E@B) E@3)?
Py = Group([()) = 1
Py = Group([(1,6)(2,10)(3, 13)(4, 15)(5, 17)(7, 20)(8, 22)(9, 24) (11, 26) (12, 28) (14, 30) (16, 31) (18, 33)(19, 35)(21, 37) (23, 38)(25, 40)(27, 41)(29, 42) (32, 44) (34, 45)(36, 46) (39, 47) (43, 48)]) = C
Group([(1,3)(2,7)(4,11)(5,12) (6, 13)(8, 18)(9, 19)(10, 20) (14, 25)(15, 26) (16, 27) (17, 28)(21, 32) (22, 33)(23, 34) (24, 35)(29, 39)(30, 40) (31, 41)(36, 43) (37, 44) (38, 45)(42, 47) (46, 48)]) = C
Group([(1,2)(3,20)(4, 8)(5,9)(6, 10)(7, 13)(11, 33)(12, 35)(14, 21)(15, 22)(16, 23) (17, 24) (18, 26) (19, 28) (25, 44) (27, 45) (29, 36) (30, 37) (31, 38) (32, 40) (34, 41)(39, 48) (42, 46) (43, 47)]) = C
Group([(1,33)(2,26)(3,8)(4, 7)(5,44)(6, 18)(9, 40) (10, 11)(12, 21)(13, 22) (14, 19) (15, 20)(16, 48) (17, 32) (23, 47) (24, 25)(27, 36) (28, 37) (29, 34) (30, 35) (31, 43) (38, 39) (41, 46) (42, 45)]) = C
Ps = Group([(1,6)(2,10)(3, 13) (4, 15)(5, 17)(7, 20)(8, 22)(9, 24) (11, 26) (12, 28) (14, 30)(16, 31) (18, 33)(19, 35)(21, 37) (23, 38) (25, 40) (27, 41)(29, 42) (32, 44) (34, 45) (36, 46) (39, 47) (43, 48), (1, 4, 6 15)(2,8,10,22)(3, 11,13, 26)(5, 14, 17, 30)(7, 18, 20, 33)(9, 21, 24, 37)(12, 25, 28, 40)(16, 20, 31, 42) (19, 32, 35, 44)(23, 36, 38, 46) (27, 39, 41, 47) (34, 43, 45, 48)]) ~ C
Py = Group([(1,6)(2,10)(3, 13)(4, 15)(5, 17)(7, 20) (8, 22)(9, 24)(11, 26)(12, 28) (14, 30)(16, 31)(18, 33) (19, 35)(21, 37)(23, 38) (25, 40)(27, 41)(29, 42) (32, 44) (34, 45) (36, 46 ) (39, 47) (43, 48), (1, 3)(2, ) (4, 11)(5, 12)(6, 13) (8, 18)(9, 19)(10, 20)(14, 25)(15, 26) (16, 27) (17, 28) (21, 32)(22, 33) (23, 34) (24, 35) (29, 39) (30, 40) (31, 41) (36, 43) (37, 44) (38, 45) (42, 47) (46, 48)]) ~ (2 x (2
Group([(1,6)(2. 10)(3, 13)(4. 15)(5, 17)(7, 20) (8, 22)(9, 24)(11, 26)(12, 28)(14, 30)(16, 31)(18, 33)(19, 35) (21, 37) (23, 38) (25, 40) (27, 41) (29, 42) (32, 44) (34, 45) (36, 46)(39, 47)(43. 48). (1. 11, 6, 26)(2, 18, 10, 33)(3, 4, 13, 15)(5, 25, 17, 40)(7, 8, 20, 22) (9, 32, 24, 44) (12, 14, 28, 30) (16, 39, 31, 47)(19, 21, 35, 37) (23, 43, 38, 48)(27, 20, 41, 42) (34, 36, 45, 46)]) = C
Py = Group([(1,6)(2,10)(3, 13)(4, 15)(5, 17)(7, 20)(8, 22)(9, 24) (11, 26) (12, 28) (14, 30) (16, 31)(18, 33) (19, 35) (21, 37)(23, 38) (25, 40) (27, 41)(29, 42) (32, 44) (34, 45) (36, 46) (39, 47) (43, 48 (1, 2)(3, 20)(4, 8) (5, 9)(6, 10)(7, 13)(11, 33)(12, 35) (14, 21)(15, 22) (16, 23) (17, 24) (18, 26) (19, 28)(25, 44) (27, 45) (29, 36) (30, 37) (31, 38) (32, 40) (34, 41) (39, 48) (42, 46) (43 )]) >~ (2 x (2
Pio = Group([(1,6)(2, 10)(3, 13)(4, 15)(5, 17)(7, 20)(8, 22)(9, 24)(11, 26) (12, 28) (14, 30)(16, 31)(18, 33) (19, 35)(21, 37)(23, 38) (25, 40)(27, 41)(29, 42) (32, 44) (34, 45)(36, 46)(39, 47) (43, 48), (1, 8, 6, 22)(2,4, 10, 15)(3, 33, 13, 18)(5, 21, 17, 37)(7, 26, 20, 11)(9, 14, 24, 30) (12, 44, 28, 32) (16, 36, 31, 46)(19, 40, 35, 25)(23, 29, 38, 42) (27, 48, 41, 43) (34, 47. 45, 39)]) = C
Py = Group([(1,6)(2,10)(3, 13) (4, 15) (5, 17)(7, 20)(8, 22)(9, 24) (11, 26) (12, 28) (14, 30)(16, 31) (18, 33)(19, 35)(21, 37) (23, 38) (25, 40)(27, 41)(29, 42) (32, 44) (34, 45) (36, 46) (39, 47) (43, 48), (1, 20, 6, 7) (2, 13, 10, 3)(4, 33, 15, 18)(5, 35, 17, 19)(8, 26, 22, 11)(9, 28, 24, 12) (14, 44, 30, 32) (16, 45, 31, 34)(21, 40, 37, 25)(23, 41, 38, 27) (29, 48, 42, 43) (36, 47, 46, 39)]) ~ C
Pry = Group([(1,6)(2, 10)(3. 13) (4, 15)(5, 17)(7, 20)(8, 22)(9, 24) (11, 26)(12, 28) (14, 30)(16, 31)(18, 33)(19, 35)(21, 37)(23, 38)(25, 40)(27, 41)(29, 42)(32, 44) (34, 45)(36, 46)(39, 47)(43, 48). (1. 33)(2, 26)(3, 8) (4, 7)(5, 44)(6. 18)(9. 40) (10, 11)(12, 21)(13, 22) (14, 19) (15, 20) (16, 48) (17, 32) (23, 47) (24, 25) (27, 36) (28, 37) (29, 34)(30, 35) (31, 43) (38, 39) (41, 46) (42, 45)]) 02 x C2
Prs = Group([(1,6)(2,10)(3,13)(4, 15) (5, 17)(7, 20)(8, 22) (9, 24) (11, 26)(12, 28)(14, 30) (16, 31)(18, 33)(19, 35) (21, 37)(23, 38) (25, 40) (27, 41)(29, 42) (32, 44) (34, 45)(36, 46) (39, 47) (43, 48), (1, 3)(2, 7)(4, 11)(5, 12) (6, 13) (8, 18)(9, 19)(10, 20) (14, 25) (15, 26)(16, 27) (17, 28)(21, 32) (22, 33)(23, 34) (24, 35) (29, 39)(30, 40) (31, 41) (36, 43)(37, 44) (38, 45) (42, 47) (46, 48), (1, 2)(3, 20)(4, 8)(5, 9) (6, 10)(7, 13)(11, 33)(12, 35) (14, 21)(15, 22) (16, 23) (17, 24) (18, 26) (19, 28)(25, 44) (27, 45)(29, 36) (30, 37) (31, 38)(32, 40) (34, 41)(39, 48)(42, 46) (43, 47)]) = D8
Py = Group([(1,6)(2,10)(3,13)(4,15)(5, 17)(7, 20)(8, 22)(9, 24) (11, 26) (12, 28) (14, 30)(16, 31)(18, 33)(19, 35)(21, 37)(23, 38) (25, 40) (27, 41)(29, 42)(32 44)(34, 45)(36, 46) (39, 47) (43, 48), (1, 4,6, 15)(2, 8, 10, 22)(3, 11,13, 26)(5, 14, 17, 30)(7, 18, 20, 33)(9, 21, 24, 37)(12, 25, 28, 40)(16, 29, 31, 42) (19, 32, 35, 44)(23, 36, 38, 46) (27, 39, 41, 47) (34, 43, 45, 48), (1, 2)(3, 20) (4, 8)(5, 9)(6, 10)(7, 13) (11, 33) (12, 35) (14, 21) (15, 22) (16, 23) (17, 24) (18, 26) (19, 28) (25, 44) (27, 45) (29, 36) (30, 37) (31, 38) (32, 40) (34, 41) (39, 48) (42, 46) (43, 47)]) = (34 x C2
Prs = Group([(1,6)(2, 10)(3, 13)(4, 15)(5, 17)(7, 20)(8, 22)(9, 24) (11, 26)(12, 28)(14, 30)(16, 31) (18, 33)(19, 35) (21, 37)(23, 38) (25, 40) (27, 41)(29, 42) (32, 44) (34, 45) (36, 46) (39, 47) (43, 48), (1, 11, 6, 26) (2, 18, 10, 33)(3, 4, 13, 15) (5, 25, 17, 40)(7, 8, 20, 22) (9, 32, 24, 44) (12, 14, 28, 30)(16, 39, 31, 47)(19, 21, 35, 37) (23, 43, 38, 48)(27, 20, 41, 42) (34, 36, 45, 46), (L, 2)(3, 20)(4, 8) (5, 9)(6, 10)(7, 13)(11, 33)(12, 35)(14, 21) (15, 22) (16, 23) (17, 24) (18, 26)(19, 28) (25, 44) (27, 45)(29, 36)(30, 37) (31, 38) (32, 40) (34, 41)(39, 48) (42, 46) (43, 47)]) ==
Pig = Group([(1,6)(2, 10)(3. 13)(4, 15)(5, 17)(7, 20)(8, 22)(9. 24)(11, 26)(12, 28) (14, 30)(16, 31)(18, 33) (19, 35)(21, 37)(23, 38) (25, 40) (27, 41) (29, 42) (32, 44) (34 45)(36, 46 (39, 47) (43, 48), (1.4, 6, 15)(2, 8, 10, 22)(3, 11, 13, 26) (5, 14, 17, 30)(7. 18 20,33)(9,21, 24, 37)(12, 25, 28, 40)(16, 29, 31, 42)(19, 32, 35, 44) (23, 36, 38, 46) (27, 30, 41, 47) (34, 43, 45 48) (1,3)(2,7)(4,11)(5, 12)(6, 13)(8, 18)(9, 19) (10, 20)(14, 25)(15, 26) (16, 27)(17, 28) (21, 32)(22, 33) (23, 34) (24, 35)(29, 39) (30, 40) (31, 41)(36, 43) (37, 44) (38, 45)(42, 47) (46, 48)]) == 04 x C2
Pir = Group([(1,6)(2, 10)(3, 13)(4, 15)(5, 17)(7, 20)(8, 22)(9, 24) (11, 26) (12, 28) (14, 30) (16, 31) (18, 33) (19, 35) (21, 37)(23, 38) (25, 40) (27, 41)(29, 42) (32, 44) (34, 45) (36, 46 (39, 47) (43, 48), (1. 3)(2, 7) (4, 11)(5, 12)(6, 13)(8, 18)(9, 19) (10, 20) (14, 25) (15, 26) (16, 27) (17, 28) (21, 32) (22, 33) (23, 34) (24, 35) (29, 39) (30, 40) (31, 41) (36, 43) (37, 44) (38, 45)(42, 47) (46, 48), (1,8, 6, 22)(2, 4, 10, 15)(3, 33, 13, 18)(5, 21, 1 ,37)(7 26,20, 11)(9, 14, 24, 30) (12, 44, 28, 32)(16, 36, 31, 46)(19, 40, 35, 25) (23, 29, 38, 42)(27, 48, 41, 43) (34, 47, 45, 39)] ) =
Prs = Group([(1,6)(2,10)(3, 13)(4,15) (5, 17)(7, 20)(8, 22)(9, 24) (11, 26)(12728)(14 30)(16,31)(18, 33)(19, 35) (21, 37)(23, 38) (25, 40)(27, 41)(29, 42) (32, 44) (34, 45) (36, 46) (30, 47) (43, 48), (1,4, 6, 15)(2, 8, 10, 22)(3, 11, 13, 26)(5, 14, 17, 30) (7, 18, 20, 33)(9, 21, 24, 37)(12, 25, 28, 40)(16, 29, 31, 42) (19, 32, 35, 44) (23, 36, 38, 46) (27, 39, 41, 47) (34, 43, 45, 48), (1, 20, 6, 7)(2, 13, 10, 3)(4, 33, 15, 18) (5, 35, 17, 19)(8, 26, 22, 11)(9, 28, 24, 12) (14, 44, 30, 32) (16, 45, 31, 34) (21, 40, 37, 25)(23, 41, 38, 27) (29, 48, 42, 43) (36, 47, 46, 39)]) = C4 x 02
Pio = Group([(1.6)(2, 10)(3, 13)(4, 15)(5, 17)(7, 20)(8, 22)(9. 24) (11, 26) (12, 28) (14, 30) (16, 31) (18, 33) (19, 35) (21, 37) (23, 38) (25, 40) (27, 41)(29, 42)(32, 44) (34, 45) (36, 46 (39, 47) (43, 48). (1. 11, 6, 26)(2, 18, 10, 33)(3, 4, 13, 15)(5, 25, 17, 40)(7, 8, 20, 22) (9, 32, 24, 44)(12, 14, 28, 30) (16, 39, 31, 47)(19, 21, 35. 37)(23. 43, 38, 48) (27, 29, 41, 42)(34, 36, 45, 46). (1, 8, 6, 22) (2, 4, 10, 15)(3, 33, 13, 18)(5, 21, 17, 37)(7. 26,20, 11)(9, 14, 24, 30) (12, 44, 28, 32)(16, 36, 31, 46)(19. 40, 35, 25) (23, 29, 38, 42)(27, 48, 1, 43) (34, 47, 45. 39)] ) =
Poo = Group([(1,6)(2,10)(3, 13)(4, 15)(5, 17)(7, 20)(8, 22)(9, 24) (11, 26) (12, 28) (14, 30) (16, 31) (18, 33) (19, 35) (21, 37) (23, 38) (25, 40) (27, 41)(29, 42) (32, 44) (34, 45) (36, 46 (39, 47) (43, 48). (1.4, 6, 15)(2, 8, 10,22)(3, 11, 13, 26) (5, 14, 17, 30)(7, 18, 20, 33)(9, 21, 24. 37)(12, 25, 28, 40) (16, 29, 31, 42)(19, 32, 35, 44)(23, 36, 38, 46) (27, 39, 41, 47) (34, 43, 45, 48). (1. 3)(2, ) (4, 11)(5, 12)(6, 13)(8, 18)(9, 19)(10, 20)(14, 25)(15, 26)(16, 27)(17, 28) (21, 32)(22, 33)(23, 34)(24, 35)(29, 39) (30, 40) (31, 41)(36, 43)(37, 44)(38,45)(42,47)(46 48) (1,2)(3,20)(4, 8)(5,9)(6, 10)(7, 13) (11, 33)(12, 35)(14, 21) (15, 22) (16, 23)(17, 24) (18, 26) (19, 28)(25, 44) (27, 45) (29, 36)(30, 37) (31, 38) (32, 40) (34, 41) (39, 48) (42, 46) (43, 47)]) = (C4 x C2) : C2
Ni = Group([(1,2)(3,20)(4,8)(5,9) (6, 10)(7, 13)(11, 33)(12, 35) (14, 21)(15, 22) (16, 23)(17, 24) (18, 26)(19, 28) (25, 44) (27, 45)(29, 36) (30, 37) (31, 38)(32, 40) (34, 41)(39, 48)(42, 46) (43, 47), (1, 3)(2, 7)(4, 11)(5, 12) (6, 13)(8, 18)(9, 19) (10, 20)(14, 25) (15, 26) (16, 27) (17, 28) (21, 32)(22, 33) (23, 34) (24, 35)(29, 30) (30, 40)(31, 41) (36, 43) (37, 44)(38, 45) (42, 47) (46, 48), (1,4, 6,15)(2, 8, 10, 22)(3, 11, 13, 26)(5, 14, 17, 30)(7, 18, 20, 33)(9, 21, 24, 37)(12, 25, 28, 40)(16, 29, 31, 42) (19, 32, 35, 44) (23, 36, 38, 46) (27, 39, 41, 47) (34, 43, 45, 48), (1, 5, 16)(2, 9, 23) (3, 12, 27) (4, 14, 29) (6, 17, 31)(7, 19, 34) (8, 21, 36) (10, 24, 38)(11, 25, 39) (13, 28, 41) (15, 30, 42) (18, 32, 43)(20, 35, 45) (22, 37, 46) (26, 40, 47) (33, 44, 48), (1, 6)(2, 10)(3, 13) (4, 15)(5, 17)(7, 20)(8, 22) (9, 24) (11, 26) (12, 28)(14, 30) (16, 31)(18, 33)(19, 35)(21, 37)(23, 38)(25, 40)(27, 41)(29, 42) (32, 44) (34, 45) (36, 46) (39, 47) (43, 48)]) = C3 x ((C4 x C2) : C2)
No = Group([(1,2)(3,20)(4,8)(5,9)(6, 10)(7, 13)(11, 33)(12, 35) (14, 21)(15, 22) (16, 23) (17, 24) (18, 26) (19, 28) (25, 44) (27, 45)(29, 36) (30, 37) (31, 38) (32, 40) (34, 41)(39, 48)(42, 46) (43, 47), (1, 3)(2, 7)(4, 11) (5, 12)(6, 13)(8, 18) (9, 19)(10, 20) (14, 25)(15, 26)(16, 27) (17, 28) (21, 32) (22, 33)(23, 34) (24, 35) (29, 39)(30, 40) (31, 41)(36, 43) (37, 44) (38, 45) (42, 47) (46, 48), (1, 4, 6, 15)(2, 8, 10, 22) (3, 11, 13, 26) (5, 14, 17, 30)(7, 18, 20, 33)(9, 21, 24, 37) (12, 25, 28, 40) (16, 29, 31, 42) (19, 32, 35, 44) (23, 36, 38, 46)(27, 39, 41, 47)(34, 43, 45, 48), (1,5, 16)(2, 9, 23) (3, 12, 27) (4, 14, 20) (6, 17, 31)(7, 19, 34)(8, 21, 36)(10, 24, 38) (11, 25, 39) (13, 28, 41) (15, 30, 42) (18, 32, 43)(20, 35, 45) (22, 37, 46) (26, 40, 47)(33, 44, 48), (1, 6) (2, 10)(3, 13)(4, 15) (5, 17) (7, 20)(8, 22)(9, 24) (11, 26)(12, 28) (14, 30)(16, 31)(18, 33)(19, 35)(21, 37) (23, 38) (25, 40)(27, 41) (29, 42) (32, 44) (34, 45) (36, 46)(39, 47) (43, 48)]) = C3 x ((C4 x C2) : C2)
Ny = Group([(1,3)(2,7)(4, 11)(5, 12)(6, 13)(8, 18)(9. 19)(10, 20)(14. 25)(15. 26) (16, 27) (17, 28) (21, 32)(22, 33)(23, 34)(24, 35)(29, 39)(30, 40) (31, 41)(36, 43) (37, 44)(38, 45) (42, 47) (46, 48), (1, 4,6, 15)(2, 8, 10, 22)(3, 11, 13, 26)(5. 14, 17, 30)(7, 18, 20, 33)(9, 21, 24, 37)(12, 25, 28, 40)(16, 29, 31, 42) (19, 32, 35, 44)(23, 36, 38, 46) (27, 39, 41, 47) (34, 43, 45, 48), (1, 5, 16) (2, 9, 23) (3. 12, 27)(4, 14, 29)(6, 17, 31)(7, 19, 34)(8, 21, 36) (10, 24, 38) (11, 25, 39)(13, 28, 41)(15, 30, 42) (18, 32, 43)(20, 35, 45) (22, 37, 46) (26, 40, 47) (33, 44, 48)]) = C12 x C2
Ny = Group([(1,2)(3,20)(4, 8)(5,9)(6, 10)(7, 13)(11, 33)(12, 35) (14, 21) (15, 22)(16, 23) (17, 24) (18, 26) (19, 28) (25, 44) (27, 45)(29, 36) (30, 37) (31, 38) (32, 40)(34, 41)(39, 48) (42, 46)(43, 47), (1, 4,6, 15)(2, 8, 10, 22)(3, 11, 13, 26)(5, 14, 17, 30)(7, 18, 20, 33)(9, 21, 24, 37)(12, 25, 28, 40) (16, 29, 31, 42) (19, 32, 35, 44) (23, 36, 38, 46)(27, 30, 41, 47) (34, 43, 45, 48), (1, 5, 16) (2, 9, 23)(3, 12, 27) (4, 14, 29) (6, 17, 31)(7, 19, 34) (8, 21, 36) (10, 24, 38) (11, 25, 39) (13, 28, 41)(15, 30, 42) (18, 32, 43) (20, 35, 45)(22, 37, 46) (26, 40, 47)(33, 44, 48), (1, 10)(2, 6)(3, 7)(4, 22) (5, 24) (8, 15) (9, 17)(11, 18)(12, 19)(13, 20) (14, 37) (16, 38) (21, 30) (23, 31)(25, 32) (26, 33) (27, 34)(28, 35) (29, 46) (36, 42)(39, 43) (40, 44) (41, 45)(47, 48)]) = C12 x C2
Ns = Group([(1,33)(2,26)(3, 8)(4, 7)(5, 44)(6, 18)(9, 40)(10, 11)(12, 21)(13, 22) (14, 19)(15, 20) (16, 48)(17, 32) (23, 47) (24, 25)(27, 36) (28, 37)(29, 34) (30, 35) (31, 43) (38, 39) (41, 46) (42, 45), (1, 4, 6, 15) (2,8, 10,22)(3, 11, 13, 26) (5, 14, 17, 30)(7, 18, 20, 33)(9, 21, 24, 37)(12, 25, 28, 40) (16, 29, 31, 42) (19, 32, 35, 44)(23, 36, 38, 46) (27, 39, 41, 47) (34, 43, 45, 48), (1,5, 16)(2, 9, 23)(3, 12, 27)(4, 14, 29)(6, 17, 31)(7, 19, 34) (8, 21, 36)(10 24,38)(11, 25, 39)(13, 28, 41)(15, 30, 42) (18, 32, 43)(20, 35, 45) (22, 37, 46)(26, 40, 47) (33, 44, 48)]) = C12 x C2
N = Group([(1,4,6,15)(2,8, 10, 22)(3, 11,13, 26)(5, 14, 17, 30)(7, 18, 20, 33)(9, 21, 24, 37)(12, 25, 28, 40)(16, 29, 31, 42) (19, 32, 35, 44)(23, 36, 38, 46) (27, 39, 41, 47) (34, 43, 45, 48), (1, 6)(2, 10)(3, 13)(4, 15)(5, 17)(7, 20)(8, 22)(9, 24) (11, 26) (12, 28) (14, 30) (16, 31) (18, 33) (19, 35) (21, 37) (23, 38) (25, 40) (27, 41) (29, 42) (32, 44) (34, 45) (36, 46) (39, 47) (43, 48). (1, 2)(3, 20) (4, 8)(5,9)(6, 10)(7, 13) (11, 33) (12, 35) (14, 21) (15, 22) (16, 23) (17. 24) (18, 26) (19, 28) (25, 44) (27, 45) (29, 36) (30, 37) (31, 38) (32, 40) (34, 41) (39, 48) (42, 46) (43, 47), (1, 3)(2, 7)(4, 11)(5, 12)(6, 13)(8, 18)(9, 19)(10, 20) (14, 25) (15, 26) (16, 27) (17, 28) (21, 32) (22, 33) (23, 34) (24, 35) (29, 39) (30, 40) (31, 41) (36, 43) (37, 44) (38, 45) (42, 47) (46, 48), (1,5, 16)(2, 9, 23) (3, 12, 27) (4, 14, 20)(6, 17, 31)(7, 19, 34) (8, 21, 36) (10, 24, 38) (11, 25, 39)(13,28,41)(15 30, 42)(18,32,43)(20,35,45)(22 37,46) (26,40, 47)(33, 44, 48)]) = C3 x ((C4 x C2) : C2)
Ny = Group([(1,3)(2,7)(4, 11)(5, 12)(6, 13)(8, 18)(9. 19)(10, 20)(14, 25)(15, 26) (16, 27)(17, 28) (21, 32)(22, 33)(23, 34)(24, 35)(29, 39) (30, 40) (31, 41)(36, 43) (37, 44) (38, 45) (42, 47)(46.48), (1, 6)(2, 10)(3, 13)(4, 15)(5, 17)(7, 20)(8, 22)(9, 24)(11, 26)(12, 28) (14, 30) (16, 31)(18, 33)(19, 35) (21, 37)(23, 38)(25, 40)(27, 41)(29, 42) (32, 44) (34, 45)(36, 46) (39, 47)(43.48), (1, 2)(3,20)(4, 8)(5, 9)(6,10)(7, 13)(11, 33)(12 5)(14 21)(15, 22)(16, 23)(17, 24)(18, 26)(19, 28) (25, 44)(27, 45)(29, 36)(30, 37) (31, 38) (32, 40) (34, 41) (39, 48) (42, 46)(43, 47), (1, 4,6, 15)(2, 8, 10, 22) (3, 11, 13, 26) (5, 14, 17, 30) (7, 18, 20, 33)(9, 21, 24, 37) (12, 25, 28, 40)(16, 29, 31, 42) (19, 32, 35, 44) (23, 36, 38, 46)(27, 39, 41,47)(34 43,45,48), (1,5,16)(2,9,23)(3, 12, 27)(4, 14, 29)(6, 17, 31)(7, 19, 34)(8, 21, 36)(10, 24, 38) (11, 25, 39) (13, 28, 41)(15, 30, 42)(18, 32, 43) (20, 35, 45) (22, 37, 46) (26, 40, 47)(33, 44, 48)]) = C3 x ((C4 x C2) : C2)
N = Group([(1,11,6,26)(2, 18, 10, 33)(3, 4, 13, 15)(5, 25, 17, 40)(7, 8, 20, 22)(9, 32, 24, 44)(12, 14, 28, 30)(16, 39, 31, 47) (19, 21, 35, 37)(23, 43, 38, 48)(27, 20, 41, 42) (34, 36, 45, 46), (1, 6)(2, 10) (3, 13)(4, 15)(5, 17)(7, 20)(8, 22)(9, 24) (11, 26) (12, 28) (14, 30) (16, 31) (18, 33) (19, 35) (21, 37) (23, 38) (25, 40) (27, 41)(29, 42) (32, 44) (34, 45) (36, 46) (39, 47) (43, 48), (1, 2)(3, 20) (4, 8)(5, 9)(6, 10) (7, 13) (11, 33) (12, 35) (14, 21)(15, 22) (16, 23) (17, 24) (18, 26) (19, 28) (25, 44) (27, 45) (29, 36) (30, 37) (31, 38) (32, 40) (34, 41)(39, 48) (42, 46) (43, 47), (1,3)(2, 7)(4, 11)(5, 12)(6, 13)(8, 18)(9, 19)(10, 20) (14, 25) (15, 26) (16, 27) (17, 28) (21, 32) (22, 33) (23, 34) (24, 35)(29, 39) (30, 40) (31, 41) (36, 43) (37, 44) (38, 45) (42, 47) (46, 48 (1. 5. 16)(2, 9. 23)(3, 12, 27) (4. 14, 29)(6. 17, 31)(7, 19, 34)(8, 21, 36) (10, 24. 38) (11, 25, 39)(13, 28, 41)(15, 30, 42) (18, 32, 43) (20, 35, 45) (22, 37. 46) (26, 40, 47) (33, 44, 48)]) = C3 x ((C4 x C2) : C2)
Ny = Group([(1,2)(3,20)(4, 8)(5,9)(6,10)(7, 13)(11, 33)(12, 35)(14, 21)(15, 22)(16, 23)(17, 24)(18, 26)(19, 28)(25, 44)(27, 45)(29, 36) (30, 37) (31, 38)(32, 40)(34, 41)(39, 48)(42, 46)(43,47), (1, 6)(2, 10)(3, 13)(4, 15)(5, 17)(7, 20)(8,22)(9, 24)(11, 26)(12, 28)(14, 30)(16, 31)(18, 33)(19, 35)(21, 37) (23, 38) (25, 40)(27, 41)(29, 42) (32, 44) (34, 45)(36, 46)(39, 47) (43, 48), (1, 3)(2, 7)(4, 11)(5, 12)(6, 13)(8, 18)(9, 19)(10, 20)(14, 25)(15, 26)(16, 27)(17, 28)(21, 32)(22, 33)(23, 34)(24, 35)(29, 39) (30, 40) (31, 41)(36, 43)(37, 44)(38, 45) (42, 47)(46,48), (1, 4, 6, 15)(2, 8, 10, 22)(3, 11, 13, 26)(5, 14, 17, 30)(7, 18, 20, 33) (9, 21, 24, 37) (12, 25, 28, 40) (16, 20, 31, 42) (19, 32, 35, 44) (23, 36, 38, 46)(27 30,41, 47)(34, 43,45, 48). (1,5, 16)(2.9, 23)(3. 12, 27) (4, 14, 20)(6, 17, 31)(7, 19, 34)(8, 21, 36)(10, 24, 38)(11, 25, 39)(13, 28, 41)(15, 30, 42) (18, 32, 43) (20, 35, 45) (22, 37, 46)(26, 40, 47)(33, 44. 48)]) = C3 x ((C4 x C2) : C2)
Nyo = Group([(1,8,6,22)(2, 4,10, 15)(3, 33, 13, 18)(5, 21, 17, 37) (7, 26, 20, 11)(9, 14, 24, 30) (12, 44, 28, 32)(16, 36, 31 46)(19, 40, 35, 25)(23, 29, 38, 42) (27, 48, 41, 43) (34, 47, 45, 39), (1, 6)(2, 10)(3, 13) (4, 15) (5, 17)(7, 20) (8, 22) (9, 24) (11, 26)(12, 28) (14, 30) (16, 31)(18, 33) (19, 35) (21, 37)(23, 38) (25, 40) (27, 41)(29, 42)(32,44)(34,45)(36,46)(39,47)(43 48), (1,2)(3.20) (4, 8)(5, 9)(6.10)(7, 13)(11, 33)(12, 35)(14, 21)(15, 22) (16, 23)(17, 24) (18, 26) (19, 28)(25, 44) (27, 45) (29, 36) (30, 37) (31, 38) (32, 40) (34, 41)(39, 48)(42, 46) (43, 47), (1, 3)(2.7)(4, 11)(5, 12)(6, 13)(8, 18)(9, 19)(10, 20)(14, 25)(15, 26)(16, 27)(17, 28)(21, 32)(22, 33)(23, 34) (24, 35)(29, 30)(30, 40) (31, 41)(36, 43) (37, 44) (38, 45) (42, 47)(46, 48), (1,5, 16)(2, 9, 23)(3, 12, 27)(4, 14, 29)(6, 17, 31)(7, 19, 34) (8, 21, 36)(10, 24, 38)(11, 25, 39) (13, 28, 41) (15, 30, 42) (18, 32, 43)(20, 35, 45) (22, 37, 46) (26, 40, 47)(33, 44, 48)]) = C3 x ((C4 x C2) : C2)
Ni1 = Group([(1.20,6,7)(2, 13, 10,3)(4. 33, 15, 18) (5, 35, 17, 19)(8, 26, 22, 11)(9, 28, 24, 12) (14, 44. 30, 32)(16, 45. 3 4)(21 40,37, 25)(23, 41,38, 27)(29, 48, 42, 43) (36, 47. 46, 39), (1. 6)(2. 10)(3. 13)(4, 15)(5, 17)(7, 20)(8, 22)(9. 24)(11, 26)(12, 28) (14, 30) (16, 3 )(18,33)(19,35)(21,37)(23,38)(25,40)(27,41)(2 42)(32,44)(34, 45)(36, 46) (39, 47) (43, 48), (1, 2)(3, 20) (4, 8) (5, 9) (6, 10)(7, 13) (11, 33) (12, 35)(14, 21) (15, 22)(16, 23) (17, 24) (18, 26)(19, 28) (25, 44) (27, 45)(29, 36) (30, 37) (31, 38) (32, 40) (34, 41) (39, 48) (42, 46)(43, 47), (1, 4, 6, 15)(2, 8, 10,22)(3, 11, 13,26) (5, 14, 17, 30)(7, 18, 20, 33)(9, 21, 24, 37)(12, 25, 28, 40)(16, 29, 31, 42) (19, 32, 35, 44)(23, 36, 38, 46)(27, 39, 41, 47) (34, 43, 45, 48), (1, 5, 16)(2, ,23)(3,12,27)(4, 14, 29)(6, 17, 31)(7, 19, 34)(8, 21, 36)(10, 24, 38) (11, 25, 39) (13, 28, 41) (15, 30, 42)(18, 32, 43)(20, 35, 45) (22, 37, 46) (26, 40, 47)(33, 44, 48)]) = O3 x ((C4 x C2) : C2)
Nis = Group([(1.33)(2,26)(3,8)(4, 7)(5, 44)(6. 18)(9, 40)(10, 11)(12, 21)(13, 22) (14, 19)(15, 20)(16, 48) (17, 32)(23, 47)( 25)(27, 36) (28, 37)(29, 34)(30, 35) (31, 43)(38, 39) (41, 46) (42, 45), (1, 6)(2, 10)(3, 13)(4, 15) (5, 17)(7, 20)(8, 2)(97 4)(11,26)(12, 28)(14, 30)(16, 31)(18, 33)(19, 35)(21, 37)(23, 38)(25, 40)(27, 41)(29, 42) (32, 44) (34, 45) (36, 46) (39, 47) (43, 48), (1, 2)(3, 20)(4, 8)(5,9)(6, 10)(7, 13)(11, 33)(12, 35)(14, 21) (15, 22)(16, 23)(17, 24) (18, 26) (19, 28) (25, 44) (27, 45)(29, 36)(30, 37)(31, 38) (32, 40)(34, 41) (39, 48) (42, 46) (43, 47), (1, 3)(2, 7)(4, 11)(5, 12)(6, 13)(8, 18)(9, 19)(10, 20)(14, 25) (15, 26) (16, 27)(17, 28) (21, 32)(22, 33)(23, 34) (24, 35) (29, 30)(30, 40) (31, 41)(36, 43) (37, 44) (38, 45) (42, 47) (46, 48), (1, 5, 16)(2, 9, 23)(3, 12, 27) (4, 14, 29)(6, 17, 31)(7, 19, 34)(8, 21, 36)(10, 24, 38)(11, 25, 39) (13, 28, 41) (15, 30, 42) (18, 32, 43) (20, 35, 45) (22, 37, 46)(26, 40, 47)(33, 44, 48)]) = C3 x ((C4 x C2) : C2)
Nis = Group([(1,2)(3, 20)(4, 8)(5,9)(6, 10)(7, 13)(11, 33)(12, 35)(14, 21) (15, 22) (16, 23) (17, 24)(18, 26) (19, 28)(25, 44) (27, 45) (29, 36)(30, 37) (31, 38) (32, 40) (34, 41) (39, 48) (42, 46) (43, 47), (1, 3)(2.7)(4, 11)(5, 12)(6, 13)(8, 18)(9, 19)(10, 20)(14, 25)(15, 26) (16, 27) (17, 28) (21, 32)(22, 33) (23, 34) (24, 35)(29, 39) (30, 40 (31, 41) (36, 43) (37. 44 (38, 45) (42, 47) (46, 48). (1, 6)(2, 10)(3, 13)(4, 15)(5, 17)(7, 20)(8, 22)(9, 24) (11, 26)(12, 28) (14, 30) (16, 31)(18, 33)(19, 35)(21, 37) (23, 38) (25, 40)(27, 41) (29, 42) (32, 44) (34, 45) (36, 46 (39, 47)(43, 48), (1, 4, 6, 15)(2, 8, 10, 22)(3, 11, 13, 26) (5, 14, 17, 30)(7, 18, 20, 33)(9, 21, 24, 37)(12, 25, 28, 40)(16, 20, 31, 42) (19, 32, 35, 44) (23, 36, 38, 46) (27, 39, 41, 47) (34, 43, 45, 48), (1,5, 16)(2, 9, 23) (3, 12, 27) (4, 14, 29)(6, 17, 31)(7, 19, 34) (8, 21, 36) (10, 24, 38)(11, 25, 39) (13, 28, 41) (15, 30, 42) (18, 32, 43) (20, 35, 45) (22, 37, 46) (26, 40, 47) (33, 44, 48)]) = C3 x ((C4 x C2) : C2)
Nus = Group([(1,2)(3,20)(4.8)(5.9)(6, 10)(7, 13)(11, 33) (12, 35) (14, 21)(15, 22) (16, 23) (17, 24) (18, 26) (19, 28) (25, 44) (27, 45) (29, 36) (30, 37) (31, 38) (32, 40) (34, 41) (39, 48) (42, 46) (43, 47). (1.4, 6, 15)(2, 8, 10, 22)(3, 11, 13, 26) (5, 14, 17, 30)(7, 18, 20, 33)(9, 21, 24, 37)(12, 25, 28, 40) (16, 29, 31, 42)(19, 32, 35, 44)(23, 36, 38, 46) (27, 39. 41, 47) (34, 43, 45, 48), (1, 6)(2. 10)(3, 13) (4, 15)(5, 17)(7, 20)(8, 22)(9, 24)(11, 26)(12, 28)(14, 30)(16, 31)(18, 33)(19, 35)(21, 37)(23, 38) (25, 40) (27, 41)(29, 42) (32, 44) (34, 45) (36, 46) (39, 47) (43, 48), (1, 3)(2. 7) (4, 11)(5, 12)(6, 13)(8, 18)(9, 19)(10, 20)(14, 25)(15, 26) (16, 27)(17, 28) (21, 32)(22, 33)(23, 34)(24, 35)(29, 39 (30, 40) (31, 41)(36, 43) (37, 44) (38, 45) (42, 47) (46, 48). (1. 5, 16)(2, 9, 23)(3, 12, 27) (4, 14, 20) (6., 17. 31)(7, 19, 34)(8, 21, 36)(10, 24, 38)(11, 25, 30) (13, 28, 41)(15. 30, 42) (18, 32, 43) (20, 35, 45) (22, 37, 46)(26, 40, 47) (33, 44, 48)]) = C3 x ((C4 x C2) : C2)
Nis = Group([(1,2)(3,20)(4.8)(5.9)(6, 10)(7, 13)(11, 33) (12, 35) (14, 21) (15, 22) (16, 23) (17, 24) (18, 26) (19, 28) (25, 44) (27, 45) (29, 36) (30, 37) (31, 38) (32, 40) (34, 41)(39, 48) (42, 46) (43, 47 (1, 11, 6, 26)(2, 18, 10, 33)(3, 4, 13, 15)(5, 25, 17, 40)(7, 8, 20, 22) (9, 32, 24. 44)(12, 14, 28, 30) (16, 39, 31, 47)(19, 21, 35, 37)(23, 43, 38, 48) (27, 29, 41, 42) (34, 36, 45, 46), (1, 6)(2. 10)(3, 13) (4, 15)(5, 17)(7, 20)(8, 22)(9, 24)(11, 26)(12, 28)(14, 30)(16, 31)(18, 33)(19, 35)(21, 37)(23, 38)(25, 40) (27, 41)(29, 42) (32, 44) (34, 45) (36, 46) (39, 47) (43, 48). (1. 3)(2. 7) (4, 11)(5, 12)(6, 13)(8, 18)(9, 19)(10, 20)(14, 25)(15, 26)(16, 27)(17, 28)(21, 32)(22, 33)(23, 34)(24, 35)(29, 39 (30, 40)(31, 41)(36, 43) (37, 44) (38, 45) (42, 47) (46, 48). (1. 5, 16)(2, 9, 23)(3, 12, 27) (4, 14, 20) (6, 17, 31)(T, 19, 34)(8, 21, 36)(10, 24, 38)(11, 25, 30) (13, 28, 41)(15. 30, 42) (18, 32, 43) (20, 35, 45) (22, 37, 46)(26, 40, 47)(33, 44 48)]) = C3 x ((C4 x C2) : C2)
Nio = Group([(1,3)(2,7)(4, 11)(5. 12)(6, 13)(8, 18)(9, 19)(10, 20) (14, 25) (15, 26) (16, 27) (17, 28) (21, 32) (22, 33) (23, 34) (24, 35) (29, 39) (30, 40) (31, 41) (36, 43) (37, 44) (38, 45) (42, 47) (46, 48). (1,4, 6, 15)(2, 8, 10, 22)(3, 11, 13, 26) (5, 14, 17, 30)(7, 18, 20, 33)(9, 21, 24. 37)(12, 25, 28, 40) (16, 29, 31, 42)(19, 32, 35, 44)(23, 36, 38, 46) (27, 39, 41, 47) (34, 43, 45, 48), (1, 6)(2, 10)(3, 13) (4, 15)(5, 17)(7, 20)(8, 22)(9, 24)(11, 26)(12, 28)(14, 30)(16, 31)(18, 33)(19, 35)(21, 37)(23, 38)(25, 40) (27, 41)(29, 42) (32, 44) (34, 45) (36, 46) (39, 47) (43, 48), (1. 2)(3, 20)(4, 8) (5, 9)(6, 10)(7, 13)(11, 33)(12, 35)(14, 21)(15, 22) (16, 23)(17, 24)(18, 26)(19, 28)(25, 44)(27, 45)(29, 36)(30, 37)(31, 38)(32, 40) (34, 41)(39, 48) (42, 46) (43, 47), (1. 5, 16)(2, 9, 23)(3. 12, 27) (4, 14, 20) (6, 17, 31)(, 19, 34)(8, 21, 36)(10, 24, 38)(11, 25, 30) (13, 28, 41) (15, 30, 42) (18, 32, 43) (20, 35, 45) (22, 37, 46)(26, 40, 47)(33, 44 48)]) = C3 x ((C4 x C2) : C2)
Niz = Group([(1,8,6,22)(2, 4, 10, 15)(3, 33, 13, 18) (5, 21, 17, 37)(7, 26, 20, 11)(9, 14, 24, 30)(12, 44, 28, 32) (16, 36, 31, 46)(19, 40, 35, 25) (23, 29, 38, 42) (27, 48, 41, 43) (34, 47, 45, 39), (1, 3)(2. 7) (4, 11)(5, 12)(6, 13)(8, 18)(9, 19)(10, 20)(14, 25)(15, 26)(16, 27)(17, 28)(21, 32)(22, 33)(23, 34) (24, 35)(29, 39) (30, 40) (31, 41)(36, 43) (37, 44) (38, 45) (42, 47) (46, 48), (1, 6)(2, 10)(3, 13) (4, 15)(5, 17)(7, 20)(8, 22)(9, 24) (11, 26)(12, 28) (14, 30)(16, 31)(18, 33)(19 35)(21, 37)(23, 38) (25, 40)(27, 41)(29, 42) (32, 44) (34, 45) (36, 46) (39, 47) (43, 48), (1, 2)(3, 20)(4, 8)(5,9)(6, 10)(7, 13) (11, 33)(12, 35) (14, 21)(15 22)(16 23)(17, 24)(18, 26)(19, 28) (25, 44)(27,45)(29,36)(30 37)(31, 38)(32 40)(34,41)(39, 48) (42, 46)(43,47), (1,5, 16)(2,9, 23)(3, 12, 27) (4, 14, 20)(6, 17, 31)(7, 19, 34)(8, 21, 36) (10, 24, 38) (11, 25, 39) (13, 28, 41) (15, 30, 42) (18, 32, 43)(20, 35, 45) (22, 37, 46)(26, 40, 47) (33, 44, 48)]) = C3 x ((04 x C2) : C2)
Nis = Group([(1,20,6,7)(2, 13,10, 3)(4, 33, 15, 18)(5, 35, 17, 19) (8, 26, 22, 11)(9, 28, 24, 12) (14, 44, 30, 32) (16, 45, 31, 34) (21, 40, 37, 25) (23, 41, 38, 27)(29, 48, 42, 43) (36, 47, 46, 39), (1, 4, 6, 15) (2, 8, 10, 22)(3, 11, 13, 26) (5, 14, 17, 30) (7, 18, 20, 33)(9, 21, 24, 37) (12, 25, 28, 40)(16, 29, 31, 42) (19, 32, 35, 44) (23, 36, 38, 46) (27, 30, 41, 47) (34, 43, 45, 48), (1, 6)(2, 10)(3, 13) (4, 1 )(5,17)(7,20)(8,22)(9,24)(11,26)(12 28)(14, 30)(16, 31)(18, 33)(19, 35)(21, 37) (23, 38) (25, 40) (27, 41) (29, 42)(32, 44) (34, 45) (36, 46) (39, 47) (43, 48), (1, 2) (3, 0)(4,8)(5,9)(67 10)(7, 13)(11, 33)(12, 35)(14, 21)(15, 22)(16, 23)(17, 24) (18, 26) (19, 28) (25, 44) (27, 45)(29, 36) (30, 37) (31, 38) (32, 40) (34, 41)(39, 48) (42, 46) (43, 47), (1,5, 16)(2, 9, 3)(3, 12,27)(4, 14,29)(6,17, 31)(7, 19, 34)(8, 21, 36)(10, 24, 38) (11, 25, 39) (13, 28, 41) (15, 30, 42) (18, 32, 43) (20, 35, 45) (22, 37, 46)(26, 40, 47) (33, 44, 48)]) = €3 x ((C4 x C2) : C2)
Nio = Group([(1.8,6,22)(2.4, 10, 15)(3, 33, 13, 18)(5, 21, 17, 37)(7, 26, 20, 11)(9, 14, 24. 30)(12, 44, 28, 32) (16, 36, 31, 46)(19, 40, 35, 25)(23. 20, 38, 42) (27, 48, 41, 43) (34, 47, 45, 39). (1, 11,6, 26)(2, 18, 10, 33)(3, 4, 13, 15) (5, 25, 17, 40)(7, 8,20, 22)(9. 32, 24, 44) (12, 14, 28, 30)(16, 39, 31, 47)(19, 21. 35, 37) (23, 43, 38, 48) (27, 20, 41, 42) (34, 36, 45, 46), (1, 6)(2, 10)(3, 13)(4, 15)(5, 17)(7, 20)(8, 22)(9, 24)(11, 26)(12, 28)(14, 30)(16.31)(18, 33)(19. 35)(21. 37)(23. 38)(25. 40) (27, 41)(29, 42) (32, 44) (34, 45)(36, 46 ) (39, 47) (43, 48), (1, 2)(3, 20) (4, 8)(5, 9)(6. 10)(7, 13)(11, 33)(12, 35)(14, 21)(15, 22)(16, 23)(17, 24)(18, 26)(19, 28)(25. 44)(27. 45)(29. 36)(30. 37)(31. 38) (32, 40) (34, 41)(39, 48) (42, 46) (43, 47), (1,5, 16)(2, 9. 23)(3. 12, 27)(4. 14, 29)(6, 17, 31)(7, 19, 34)(8, 21, 36)(10, 24. 38) (11, 25, 39) (13, 28, 41) (15, 30, 42) (18, 32, 43)(20, 35, 45) (22, 37, 46) (26, 40, 47)(33, 44, 48)]) = C3 x ((C4 x C2) : C2)
Nao = Group([(1,2)(3,20)(4, 8)(5,9)(6, 10)(7, 13)(11, 33)(12, 35) (14, 21)(15, 22) (16, 23) (17, 24) (18, 26) (19, 28) (25, 44) (27, 45) (29, 36) (30, 37) (31, 38) (32, 40) (34, 41)(39, 48) (42, 46) (43, 47), (1, 3)(2, 7)(4, 11)(5, 12)(6, 13)(8, 18)(9, 19)(10, 20) (14, 25) (15, 26) (16, 27) (17, 28) (21, 32) (22, 33) (23, 34) (24, 35) (29, 39) (30, 40) (31, 41) (36, 43) (37, 44) (38, 45) (42, 47) (46, 48), (1,4, 6, 15)(2,8, 10, 22)(3, 11, 13, 26) (5, 14, 17, 30)(7, 18, 20, 33)(9, 21, 24, 37)(12, 25, 28, 40) (16, 29, 31, 42)(19, 32, 35, 44)(23, 36, 38, 46) (27, 39, 41, 47) (34, 43, 45, 48), (1, 6)(2, 10)(3, 13)(4, 15)(5, 17)(7, 20)(8, 22)(9, 24)(11, 26)(12, 28)(14, 30)(16, 31)(18, 33)(19, 35)(21, 37)(23, 38)(25, 40) (27, 41)(29, 42) (32, 44) (34, 45) (36, 46) (39, A7) (43, 48), (1, 5, 16)(2, 9, 23)(3, 12, 27)(4, 14, 20)(6, 17, 31)(7, 19, 34)(8, 21, 36)(10, 24, 38)(11, 25, 30) (13, 28, 41) (15, 30, 42) (18, 32, 43) (20, 35, 45) (22, 37, 46)(26, 40, 47) (33, 44, 48)]) = C3 x ((C4 x C2) : C2)



